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LEGANT SEWN NECKLA ;

Design by Helena Chmelikovd

PRECIOSA Tee™
111 01364; 2 X 8 mm

@@

PRECIOSA Rocailles
33119 001; 8/0

OO

Preciosa Ornela introduces beads and seed beads
from the PRECIOSA Traditional Czech Beads™ brand.




The grater

Would you like to stand out with an original exclusive necklace? Try making it according to this
tutorial. Use the quirky PRECIOSA Tee™ bead together with PRECIOSA Rocailles.
You can choose from wide range of colors and finishes.

Materials and tools:

PRECIOSA Tee™ (T)

111 01 364;2 X 8 mmy; @

53420/15781 bronze; 160x
PRECIOSA Rocailles (R10)

33119 001;10/0; @-

59142 bronze; 650x

a carabiner; a § mm ring; a decorative chain;
an adjusting chain
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a 0.20 mm nylon line; a very thin needle;
scissors; flat nose pliers; snipping pliers;
aruler

Difficulty: eeee
Procedure:

The arc of the necklace is created from rows
of R10 and T. They are linked together.

4x R10 are sewn between the T, while 3 are
sufficient, if the R1o are at the edge.

Sew the basic rectangle from 7 rows.

The neighbouring rectangles have part

of the outer row in common.

A wedge of R10 and T is sewn between
them. There are nine rectangles with eight
wedges between them. Rows with

3x T are sewn on the edges. The chains are
connected to them.

Step 1:

The 1st - 2nd rows. String 2x R10, 1x T.
Thread the line through both R10 again.
String 1x R10, 1x T and 2x R10.

Thread the line through the T one more
time.

Continue this alternating stringing
of R10 and T 3 more times.

the sewing principle - the rear
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Step 2:

the 2 - 3 row. Thread the line through
the T. String 2x R10. Thread the line
through the same T again. String 1x R10.

Thread the line through 2x R10 from Step 1.

String 1x T. Thread the line through 2x R10
again. String 1x R10. Continue adding

the R10 and T and threading the line
through them.

the sewing principle - the rear

Step 3:
Continue as in Step 1 and 2 until you have
a rectangle consisting of 7 rows (fig. 4).

Step 4:

In the 7" row, no longer add the R10 and T
to the 8" row. Only add one each

of the R1o.

Step 5:

The wedge.

When sewing on a new rectangle,

use the outer row of the previous rectangle
as the 7" row. Sew 2x R1i0 from the previous
rectangle to the T. Add 1x R10 between
each of them. String 2x R10 above

the central T. Add 1x T above

the neighbouring 2x R10, connect it with
the T from the neighbouring rectangle.
Sew 2x R10 and 1x T above the outer T and
join them with the neighbouring ones.

the wedge - the rear

Step 6:

Cut the chain into two pieces of each
length. The difference between them
should be about 1 cm. The total length

of the necklace is 39 cm and the chains are
11.2 cm and 12.3 cm.

Step 7:

The last rows at the edge of the arc.

Once again sew on the T and R1o.

Create aloop of 4x R10 above the outer T.
String 2x R10, a link of the chain and 2x R10
and thread the line through them 3 times.
Thread the end of the line through

the previous row and sew it in.

the rear

Step 8:

Snip off about 16 cm of adjusting chain.
Connect the end links of the decorative and
adjusting chains using one ring.

Connect a carabiner to the second end

of the chains.
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